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The figures ln the margln lndicate

fult marlc.s .for the questtons.
Anstuer any five questions.

(a) (i) Discuss the effect of e-pointlocation on ac operation. 3
(ii) Write down the application of CCamplifier. 

1

@ Draw the small-signal model of the
CB configuration. 2
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(c)

(e)

Maximum collector efficiency of class
A amplifier is 

-. 

1

(d.) Describe Hartley oscillator with its
operation. 6

Find the operating frequency of a
transistor Hartley oscillator, if
Lt=lOO$I , Lz=LrttII , mutual
inductance between the coils is 20 ttl
& C-2O7F 4

Differentiate between JFET and Ot;

Explain operation of /V-channel FET.
Also explain its static characteristic

(c) A JFET has a drain current of SmA. If
/.rss -LOnA and Vc^s(rtil = -6% find the

value of Vcs and Vp.

(d.) Draw a neat circuit diagram of
transistor monostable multivibrator and
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